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Part A: Grammar
Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3),
and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.
1- The team ... he is selected is going to play early next week.
1) which 2) that 3) for which 4) for that
2- The employee who wasn’t let ... the office earlier was made ... more.
1) leave — work 2) to leave — work 3) leave — to work 4) to leave — to work
3- Only after posting the letter did | remember that I ... to put on a stamp.
1) have forgotten 2) will forget 3) would forget 4) had forgotten
4- She was the first lady ... as a typical president in that country.
1) to elect 2) to be elected 3) electing 4) that she elected
5- Canyou turn off ... , please? I’'m trying to sleep.
1) a light 2) the light 3) some lights 4) light
6- “May | take another piece of cake?”
“Of course. Help ... 1”
1) yourselves 2) yours 3) you 4) yourself
7- “When is Peter going to have the job interview?”
“Well, he may ... at this very moment. | hope he can pass it.”
1) be interviewing  2) be being interviewed 3) have interviewed 4) have been interviewing
8- “Do you want to go to the library with me?”
“No, thank you. I think I’ll wait until the mail ... .”
1) comes 2) will come 3) is coming 4) will be coming
9- ... only person who did ... experiment successfully lives in ... city of Paris.
1) The,an, - 2) An , the , the 3) The , the , the 4) An , the , -
10- 1 joined the crowd of people ... in line outside the stadium to get the tickets for the football match.
1) standing 2) stood 3) who stand 4) were standing
Part B: Vocabulary
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3)
and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.
11- We decided to ... the party until my parents would return from America.
1) postpone 2) remove 3) transmit 4) transport
12- Nobody dared to say anything. All the students were ... about answering the questions.
1) voluble 2) verbose 3) reticent 4) assertive
/
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13- His books aren't ... well-written, but they're always entertaining.
1) irregularly 2) particularly 3) immediately 4) proudly
14- The report states that the gap between the rich and the poor has increased ... over the past decade.
1) reluctantly 2) helpfully 3) voraciously 4) dramatically
15- A law has recently been passed ... the consumption of alcohol in public places.
1) inferring 2) prohibiting 3) instructing 4) enforcing
16- There was a minor ... during the demonstration, but nobody was injured.
1) disturbance 2) addition 3) comparison 4) precaution
17- The interests of both parties may not be ..., but they do overlap considerably.
1) identical 2) coherent 3) punctual 4) ignorant
18- Life ... is the length of time that a living thing, especially a human being, is likely to live.
1) expectancy 2) guidance 3) insistence 4) consistency
19- He ... that he had seen the man leaving the building around the time of the murder.
1) testified 2) identified 3) clarified 4) purified
20- We are faced with an agonizing ... and it seems there is no correct choice.
1) agency 2) dilemma 3) pension 4) absence
21- The road was blocked for two hours after the accident, but the traffic is now flowing ... again.
1) efficiently 2) fortunately 3) entirely 4) smoothly
22- | can't explain how I knew- I just had a(n) ... that you'd been involved in an accident.
1) consideration 2) deduction 3) intuition 4) depiction
23- They take little interest in a conflict far from their homes and ... from their everyday problems.
1) remote 2) filthy 3) related 4) joint
24- 1 ... watch any television, apart from news and current affairs.
1) hardly 2) wildly 3) gently 4) mainly
25- He views his life as a ... journey towards a greater understanding of his faith.
1) notorious 2) material 3) spiritual 4) monotonous
Part C: Word Order
Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer
sheet.
26-
1) This actor is so famous that he gets recognized wherever he goes.
2) This actor is famous enough to get recognized wherever goes.
3) This actor is famous enough to recognize wherever he goes.
4) This actor is so famous that he recognizes wherever goes.
\ /
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1) Under no circumstances the equipment uses without supervising.

2) Under any circumstances the equipment uses without supervision.

3) Under no circumstances is the equipment to be used without supervision.

4) Under any circumstances isn’t the equipment to be used without supervising.
28-

1) Early computer games seem quite primitive comparing to those of today.

2) Early computer games seem quite primitive compared to today’s games.

3) Early games of computer seem quite primitive comparing to those today.

4) Early games of computer seem quite primitive compared to games of today’s.
20-

1) The first step in a job hunt is to find out what are there opportunities out.

2) The first step in a job hunt is finding out what opportunities there are out.

3) The first step in hunting a job is to find out what opportunities are out there.

4) The first step in hunting a job is finding out there are what opportunities out.

1) Tom wouldn’t forgive Jenny if she told everyone his secret, and nor would I.
2) Tom wouldn’t forgive Jenny if she told everyone his secret, and wouldn’t | either.
3) Tom wouldn’t forgive Jenny whether she told everyone his secret, and nor would I.

4) Tom wouldn’t forgive Jenny whether she told everyone his secret, and | wouldn’t, either.

Part D: Language Function

Directions: Read the following passages and answer the questions about it by choosing one of the choices (1,2,3) or (4). Then mark

the correct choice on your answer sheet.

A: My brother has not won the company’s support for his new plan.
B: Evenifit’s true, ...31... .
31-1) call it a draw 2) it’s not for lack of trying
3) charity begins at home 4) pride goes before a fall
A: | can’t believe | made such a blunder in the class. It was completely foolish to say anything like that!
B: I don’t want to discourage you, but you’d really better ... 32... as you speak.
32-1) laugh in your face 2) look straight through yourself
3) make a fool of yourself 4) weigh your words
A: Have you met the new people at number 32 yet?

B: No, but I’ve heard them. They’re always at each other’s ...33... . They never stop arguing.
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A: My goodness!

N\

B: I’ll have to introduce myself. | don’t like ...34... into other people’s business, but I think that poor girl needs a
friend to talk to. I’m sure she needs ...35... .
A: Why do you call her that poor girl? It isn’t always the husband’s fault, you know.

B: Well, it is in this case. He wants a slave, not a wife. He never ...36... to help.

33-1) throats 2) necks 3) heads 4) hands

34-1) lendingahand  2) sticking my nose 3) drawing breath 4) bringing in a verdict
35-1) abag of nerves  2) a shoulder to cry on 3) a hard frost 4) adog’s life

36- 1) gets mad at her  2) lets her down 3) misses the chance  4) lifts a finger

A: Bruce has not still finished the work | gave him two weeks ago. | have no idea what to do with him.
B: If | were you, | would ...37... .
37-1) push him for it 2) live from hand to mouth
3) touch wood 4) show the flag
A: The X-rays suggest that an extraction is indicated.
B: I'mafraid ...38... .
A: Okay, let me put it this way: 1’'m going to have to pull your tooth out.

B: Oh, now ...39....
38-1) thatitis 2) you’re right
3) I don’t follow you 4) but | wouldn’t agree with it
39-1) | agree 2) | understand 3) take it from me 4) you might be true

A: It’s going to take me several days to revise this research paper.
B: Unfortunately, ...40... tomorrow.

40-1) it is time 2) itis due 3) time is behind 4) time is on your side

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1,2,3) or (4) best fits each space. Then mark the correct choice on

your answer sheet.

Good preparation can help patients feel less anxious about the anesthesia and surgery and get through the
recovery period faster. But, sometimes, the unexpected is going to happen. It started out to be a ...41...
exploratory operation. ...42..., suddenly, the patient’s heart stopped. Her brain waves started leveling off. The
medical team ...43... began emergency treatment to try ...44... the heart again. At last the ...45... surgeon
announced that the patient had died. Minutes later, much to everyone’s ...46..., the dead patient came back to
life. Her heart started and her brain waves began to ...47... normal patterns . Later she told the doctors that she
had been fully aware ...48... everything that had happened ...49... she was dead. She believed that she came
back to life, ...50... she wanted ...51... to live longer. She said death was not frightening, but she wasn’t ready
...52... yet. The ...53... admit that they have no satisfactory explanation for these death or near-death ...54... .

They admit that they do not fully ...55... life and they do not fully understand death.
\ /
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41-1) reluctant 2) permanent 3) simple 4) decorative

42-1) So 2) Before 3) Then 4) After

43-1) immediately 2) gradually 3) artificially 4) accidentally

44-1) starting 2) start 3) started 4) to start

45-1) chief 2) brief 3) cosy 4) tiny

46-1) agreement 2) amazement 3) encouragement 4) development

47-1) presume 2) consume 3) commute 4) assume

48- 1) with 2) of 3) for 4) at

49- 1) while 2) whenever 3) thus 4) if

50- 1) though 2) whereas 3) for 4) nevertheless

51-1) such bad 2) so bad 3) such badly 4) so badly

52- 1) going 2) gone 3)togo 4) go

53- 1) experts
54- 1) exhibitions
55-1) comprehend

2) executioners
2) experiments

2) compensate

3) exploiters
3) explosions

3) complicate

4) exporters
4) experiences

4) complain

Part F: Reading Comprehension

Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing the best

choice (1,2,3) or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1

The word laser was coined as an acronym for Light Amplification by the Stimulated Emission of Radiation.

Ordinary light, from the Sun or a light bulb, is emitted spontaneously, when atoms or molecules get rid of excess
energy by themselves, without any outside intervention. Stimulated emission is different because it occurs when
an atom or molecule holding onto excess energy has been stimulated to emit it as light.

Albert Einstein was the first to suggest the existence of stimulated emission in a paper published in 1917.
However, for many years physicists thought that atoms and molecules always were much more likely to emit
light spontaneously and that stimulated emission thus always would be much weaker. It was not until after the
Second World War that physicists began trying to make stimulated emission dominate. They sought ways by
which one atom or molecule could stimulate many others to emit light, amplifying it to much higher powers.

The first to succeed was Charles H. Townes, then at Columbia University in New York. Instead of working
with light, however, he worked with microwaves, which have a much longer wavelength, and built a device he
called a “maser,” for Microwave Amplification by the Stimulated Emission of Radiation. Although he thought of
the key idea in 1951, the first maser was not completed until a couple of years later. Before long, many other
physicists were building masers and trying to discover how to produce stimulated emission at even shorter

wavelengths.

N\
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The key concepts emerged about 1957. Townes and Arthur Schawlow, then at Bell Telephone Laboratories,
wrote a long paper outlining the conditions needed to amplify stimulated emission of visible light waves. At about
the same time, similar ideas crystallized in the mind of Gordon Gould, then a 37-year-old graduate student at
Columbia, who wrote them down in a series of notebooks. Townes and Schawlow published their ideas in a
scientific journal, “Physical Review Letters,” but Gould filed a patent application. Six decades later, people still

argue about who deserves the credit for the concept of the laser.

56- The word “intervention” in line 3 can best be replaced by ... .

1) need 2) device 3) influence 4) source

57- Which of the following statements best describes a laser?

1) A device for stimulating atoms and molecules to emit light
2) An atom in a high-energy state
3) A technique for destroying atoms or molecules

4) An instrument for measuring light waves

58- Why was Townes’ early work with stimulated emission done with microwaves?

1) He was not concerned with light amplification.
2) It was easier to work with longer wavelengths.
3) His partner Schawlow had already begun work on the laser.

4) The laser had already been developed.

59- In approximately what year was the first maser built?

1) 1917 2) 1951 3) 1953 4) 1957

60- Why do people still argue about who deserves the credit for the concept of the laser?

\

1) The researchers' notebooks were lost.

2) Several people were developing the idea at the same time.

3) No one claimed credit for the development until recently.

4) The work is still incomplete.
PASSAGE 2

Greyhound racing is the sixth most popular spectator sport in the United States. Over the last decade, a
growing number of racers have been adopted to spend their retirement as household pets, once their racing
careers are over.

Many people hesitate to adopt a retired racing greyhound because they think only very old dogs are available.

Actually, even champion racers only work until they are about three years old. Because greyhounds usually live

to be 12 to 15 years old, their retirement is much longer than their racing careers.

N\
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People worry that a greyhound will be more nervous and active than other breeds and will need a large space

N\

to run. These are false impressions. Greyhounds have naturally sweet mild dispositions, and while they love to
run, they are sprinters rather than distance runners and are sufficiently exercised with a few daily laps around a
fenced-in backyard.

Greyhounds do not make good watchdogs, but they are very good with children, get along well with other
dogs (and usually cats as well), and are affectionate and loyal. They are intelligent, well — behaved dogs, usually
housebroken in only a few days. A retired racing greyhound is a wonderful pet for almost anyone.

61- Based on the tone of the passage, the author’s main purpose isto ... .

1) teach prospective owners how to transform their racing greyhound into a good pet

2) show how the greyhound’s nature makes it equally good as racer and pet

3) encourage people to adopt retired racing greyhounds

4) objectively present the pros and cons of adopting a racing greyhound

62- According to the passage, adopting a greyhound is a good idea for the people who ... .

1) do not have children 2) live in apartments

3) do not usually like dogs 4) already have another dog or a cat

63- Which of the following is implied by the passage?

1) The public is more aware of greyhounds than they used to be.

2) Greyhounds are more competitive than other dogs.

3) Greyhound racing should not be allowed.

4) People who own pet rabbits should not adopt greyhounds.

64- One drawback of adopting a greyhound is that ... .

1) greyhounds are not good with children

2) greyhounds are old when they retire from racing

3) the greyhound’s sensitivity makes it temperamental

4) greyhounds are not good watchdogs
65- The underlined word “hesitate” in line 4 is closest in meaning to ... .

1) insist 2) doubt 3) rely 4) persuade
PASSAGE 3

Panel painting, common in thirteenth and fourteenth century Europe, involved a painstaking laborious
process. Wooden planks were joined, covered with gesso to prepare the surface for painting, and then polished
smoothly with special tools. On this perfect surface, the artist would sketch a composition with chalk, refine it
with inks, and then begin the deliberate process of applying thin layers of egg tempera paint (egg yolk in which
pigments are suspended) with small brushes. The successive layering of these meticulously applied paints

produced the final translucent colors.
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Backgrounds of gold were made by carefully applying sheets of gold leaf and then embellishing or decorating
the gold leaf by punching it with a metal rod on which a pattern had been embossed. Every step in the process
was slow and deliberate. The quick-drying tempera demanded that the artist know exactly where each stroke be
placed before the brush met the panel, and it required the use of fine brushes. It was, therefore, an ideal
technique for emphasizing the hard linear edges and pure, fine areas of color that were so much a part of the
overall aesthetic of the time. The notion that an artist could or would dash off an idea in a fit of spontaneous
inspiration was completely alien to these deliberately produced works.

Furthermore, making these paintings was so time-consuming that it demanded assistance. All such work was
done by collective enterprise in the workshops. The painter or master who is credited with having created the
painting may have designed the work and overseen its production, but it is highly unlikely that the artist's hand
applied every stroke of the brush. More likely, numerous assistants, who had been trained to imitate the artist’s
style, applied the paint. The carpenter’s shop probably provided the frame and perhaps supplied the panel, and
yet another shop supplied the gold. Thus, not only many hands, but also many shops were involved in the final
product.

In spite of problems with their condition, restoration, and preservation many panel paintings have survived,
and today many of them are housed in museum collections.

66- What aspect of panel paintings does the passage mainly discuss?
1) Famous examples 2) Different styles 3) Restoration 4) Production
67- The word “it” in line 3 refersto ... .
1) chalk 2) composition 3) artist 4) surface
68- Which of the following processes produced the translucent colors found on panel paintings?
1) Joining wooden planks to form large sheets
2) Polishing the gesso
3) Applying many layers of paint
4) Covering the background with gold leaf
69- The author mentions all of the following as problems with the survival of panel paintings EXCEPT ... .
1) condition 2) theft 3) preservation 4) restoration
70- What characteristic of tempera paint is mentioned in the passage?
1) It dries quickly. 2) It is difficult to make.
3) It dissolves easily. 4) It has to be applied directly to wood.
/
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